ON THIRD ORDER, NONLINEAR, SINGULAR, BOUNDARY VALUE PROBLEMS

PHILIP HARTMAN

Let $P_{\alpha\beta\lambda}$ be the singular boundary value problem on $0 \leq t < \infty$ consisting of the nonlinear ordinary differential equation $y''' + y'' + \lambda (1 - y'^2) = 0$, the boundary conditions $y(0) = \alpha, y'(0) = \beta$ and $y'(\infty) = 1$, and the condition $\beta < y'(t) < 1$ for t > 0. The problems $P_{lphaeta\lambda}$ arise in boundary layer theory and questions of existence and uniqueness have been settled for parameters on the range: (λ, α) arbitrary, $0 \leq \beta < 1$. If $\lambda = 0$, a "discontinuity" occurs in the existence theory at $\beta = 0$ in the following sense: if $0 < \beta < 1$, then $P_{\alpha\beta0}$ has a solution for all α , but if $\beta = 0$, then there is a number A_0 with the property that $P_{\alpha 00}$ has a solution if and only if $\alpha \ge A_0$. In this paper, it is shown that, if $\lambda > 0$, a similar "discontinuity" occurs at $\beta = -1$; namely, if $\lambda > 0$ and -1 < eta < 1, then $P_{lphaeta\lambda}$ has a solution for arbitrary α , while if $\beta = -1$, then there exists a number A_{λ} such that $P_{\alpha, -1, \lambda}$ has a solution if $\alpha > A_{\lambda}$ but no solution if $\alpha < A_{\lambda}$.

1. Questions of existence and nonexistence, uniqueness and nonuniqueness for the problem (1.1) - (1.4):

(1.1) $y''' + yy'' + \lambda (1-y'^2) = 0$,

$$(1.2) y'(t) \to 1 \quad \text{as} \quad t \to \infty ,$$

(1.3)
$$y(0) = \alpha, y'(0) = \beta$$
,

$$(1.4) \qquad \qquad \beta < y'(t) < 1 \quad \text{for} \quad 0 < t < \infty \ ,$$

have been settled, in the case $\beta = 0$, by Iglisch, Grohne, and Kemnitz; cf. [2],]6], [7], [8]. These papers include results of Weyl [10] for $\lambda \ge 0$, but not those of Coppel [1] for $\lambda \ge 0$, $\alpha \ge 0$ and $0 \le \beta < 1$. See [2] and [4] for the cases $\lambda = 0$, $0 \le \beta < 1$. Asymptotic behavior of solutions is discussed in [1] and [3]. A complete summary of this theory for arbitrary λ , α , and $0 \le \beta < 1$ is given in [4, pp. 519-537].

Although the cases $\beta < 0$ do not occur in fluid mechanics, there is no mathematical reason for ignoring them. We shall prove the following assertion which exhibits the "discontinuity" in the existence theory at $\lambda > 0$, $\beta = -1$.

THEOREM 1.1. Let $\lambda > 0$. If $-1 < \beta < 1$, then (1.1) - (1.4) has a

solution for all α . If $\beta = -1$, then there exists a number A_{λ} such that (1.1) - (1.4) has a solution if $\alpha > A_{\lambda}$, but has no solution if $\alpha < A_{\lambda}$.

The first statement, that, concerning $-1 < \beta < 1$, can easily be obtained by known arguments; cf., e.g., Coppel [1]. In order to obtain additional information about the solutions for use in the proofs of the statements concerning $\beta = -1$, a proof indicated in [4, Exercise 6.4, pp. 524-525] will be employed. It is known (Iglisch [7]) that the solutions in Theorem 1.1 are unique if $0 \leq \beta < 1$; cf. [4, p. 523] (or Theorem 6.1 below). Questions of uniqueness will remain undecided for $-1 \leq \beta < 0$, except in the case $\lambda = 1/2$, where they will be decided affirmatively (Theorem 6.1). The related question of existence when $\alpha = A_{\lambda}$ will remain open.

It can be remarked that (1.4) is equivalent to

$$(1.5) y''(t) > 0 for 0 \leq t < \infty$$

if $-1 \leq \beta < 1$ and $\lambda > 0$. For, on the one hand, (1.1) has the trivial solutions $y = \alpha \pm t$, $y' = \pm 1$, y'' = 0. On the other hand, if $\lambda > 0$ and y(t) is any nontrivial solution of (1.1) satisfying $y''(t_0) = 0$, then $y'''(t_0) < 0$ or $y'''(t_0) > 0$ according as $|y'(t_0)| < 1$ or $|y'(t_0)| > 1$ and, correspondingly, y'(t) has a strict maximum or a minimum at $t = t_0$.

2. Existence statements $(\lambda > 0, |\beta| < 1)$. The corresponding part of Theorem 1.1 has the following refinements:

THEOREM 2.1. For α , β , λ on the set

$$(2.0) \qquad \{(\alpha, \beta, \lambda): -\infty < \alpha < \infty, -1 < \beta < 1, \lambda > 0\},\$$

there exist solutions $y = y_*(t; \alpha, \beta, \lambda)$, $y^*(t; \alpha, \beta, \lambda)$ of (1.1) - (1.4), which may coincide, with the following two properties: (i) the functions

(2.1)
$$y_*, y^*$$
 and $-(1-y_*')/(1-\beta), -(1-y^{*'})/(1-\beta)$, hence $y_*', y^{*'}$,

and

(2.2)
$$y_*''/(1-y_*')$$
 and $y^{*''}/(1-y^{*'})$

are increasing functions of α , β , and λ for fixed $t \geq 0$ and t > 0, respectively; (ii) if y(t) is any solution of (1.1) - (1.4), then

$${y}_* \leq {y} \leq {y}^*$$
 , ${y}_*' \leq {y}' \leq {y}^{*\prime}$,

(2.3)

$$y_*''/(1-y_*') \leq y''/(1-y') \leq y^{*''}/(1-y^{*'})$$
 .

The proof of Theorem 2.1 will be given in §3. It depends on some essentially known results (Lemmas 1A, 2A, and 3A) on linear, second order differential equations stated in the Appendix below for easy reference in the forms to be used here.

3. Proof of Theorem 2.1. (a) Existence. Assume that

$$\lambda > 0$$
 , $-1 < eta < 1$, $-\infty < lpha < \infty$.

Introduce the function

(3.1)
$$h = 1 - y'$$

so that (1.1) becomes a linear second order equation for h,

(3.2)
$$h'' + yh' - \lambda(1 + y')h = 0$$
.

Define a sequence of successive approximations $\{y_n(t)\}\$ as follows:

$$(3.3) h_{\scriptscriptstyle 0} \equiv 1 - \beta , \quad y_{\scriptscriptstyle 0} \equiv \alpha + \beta t , \quad y_{\scriptscriptstyle 0}' \equiv \beta$$

If h_k, y_k, y_k' have been defined for $k = 1, \dots, n$ satisfying

$$(3.4_n) hinspace{1.5mu} h_n(0) = 1 - \beta; \ h_n(t) > 0 \ \text{ and } \ h_n'(t) < 0 hinspace{1.5mu} \text{ for } t \geqq 0 \ ,$$

(3.5_n)
$$y_n' = 1 - h_n$$
 and $y_n(t) = \alpha + \int_0^t y_n'(s) ds$,

let $h = h_{n+1}(t)$ be a solution of

$$(3.6_n) h'' + y_n(t)h' - \lambda(1 + y_n'(t))h = 0,$$

satisfying (3.4_{n+1}) . Actually, such a solution exists, is unique, and satisfies the analogue of

$$(3.7) h_n(t) \longrightarrow 0 , \quad \text{i.e., } y_n'(t) \longrightarrow 1 , \text{ as } t \longrightarrow \infty$$

(when $n \ge 1$). This follows from the Lemma 1A applied to (3.6_n) . The conditions (5) and (7) of the Lemma 1A can be verified directly for n = 0, and are a consequence of the Remark following Lemma 1A if $n \ge 1$, since $1 + y_n' = 2 - h_n(t) \ge 1 + \beta > 0$ for $\beta > -1$.

The sequences so defined satisfy

$$(3.8_n) h_n > h_{n+1} ext{ for } t > 0; h_n'/h_n > h_{n+1}'/h_{n+1} for t \ge 0;$$

$$(3.9_n) y_n' < y_{n+1}' \text{ and } y_n < y_{n+1} for t > 0.$$

The relations (3.8_0) hold, since $h_0 \equiv 1 - \beta$ and $h_1(0) = 1 - \beta$, $h_1'(t) < 0$ for $t \ge 0$. Hence (3.9_0) holds. Assume (3.9_n) . Then (3.8_{n+1}) follows from Lemma 2A (and its proof) if (3.5_n) has a unique solution $h = h_{n+1}$ satisfying (3.4_{n+1}) . But this uniqueness has already been

167

noted. This proves $(3.8_n) - (3.9_n)$ for $n = 0, 1, \dots$.

Define another sequence of successive approximations $\{Y_n(t)\}$ as follows:

$$(3.10) H_0 \equiv 0, \ Y_0(t) = \alpha + t, \ Y_0' \equiv 1.$$

If H_k , Y_k , Y'_k have been defined for $k = 1, \dots, n$ satisfying

$$(3.11_n) H_n(0) = 1 - \beta, H_n(t) > 0 \text{and} H'_n(t) < 0 \text{for } t \ge 0 ,$$

$$(3.12_n) Y'_n \equiv 1 - H_n \text{ and } Y_n(t) = \alpha + \int_0^t Y'_n(s) ds ,$$

let $H = H_{n+1}(t)$ be a solution of

$$(3.13_n) H'' + Y_n(t)H' - \lambda(1 + Y'_n(t))H = 0$$

satisfying (3.11_{n+1}) . This solution exists, is unique, and satisfies the analogue of

$$(3.14_n) \qquad H_n(t) \longrightarrow 0, \text{ i.e., } Y'_n(t) \longrightarrow 1, \text{ as } t \longrightarrow \infty ,$$

by Lemma 1A and the Remark following it.

As above, an induction, based on Lemma 2A, shows that, for $n = 0, 1, \cdots$,

$$(3.15_n) H_n < H_{n+1} ext{ for } t > 0; H_n'/H_n < H_{n+1}'/H_{n+1} for t \ge 0;$$

$$(3.16_n) Y'_n > Y'_{n+1} ext{ and } Y_n > Y_{n+1} ext{ for } t > 0.$$

Similarly, we can obtain

$$(3.17_{mn}) H_m(t) < h_n(t) for t > 0$$

and $m, n = 0, 1, \cdots$; that is,

$$(3.18_{mn}) Y'_m > y'_n \quad \text{and} \quad Y_m > Y_n for \ t > 0.$$

For (3.17_{0n}) , (3.18_{0n}) are trivial for $n = 0, 1, \cdots$. Thus Lemmas 1A and 2A give $(3.17_{1,n+1})$ for $n = 0, 1, \cdots$, while (3.18_{10}) is trivial. This argument which goes from m = 0 to m = 1 can be repeated for any m to give (3.17_{mn}) , (3.18_{mn}) . Thus

$$(3.19) 1 \equiv Y_0' \geqq Y_1' \geqq \cdots \geqq y_1' \geqq y_0' \equiv \beta ,$$

$$(3.20) \qquad \qquad \alpha + t = Y_{\scriptscriptstyle 0} \geqq Y_{\scriptscriptstyle 1} \geqq \cdots \geqq y_{\scriptscriptstyle 1} \geqq y_{\scriptscriptstyle 0} = \alpha + \beta t ,$$

for $t \ge 0$.

Consequently, the limits

(3.21)
$$y^*(t) = \lim_{n \to \infty} Y_n(t), y_*(t) = \lim_{n \to \infty} y_n(t)$$
,

(3.22)
$$y^{*'}(t) = \lim_{n \to \infty} Y_{n}'(t), \ y_{*}'(t) = \lim_{n \to \infty} y_{n}'(t) ,$$

exist for $t \ge 0$. It is clear that the sequences $\{y_n'\}, \{y_n''\}, \{Y_n'\}, \{Y_n''\}$ are uniformly bounded on *t*-intervals. Hence (3.21), (3.22) hold uniformly on such intervals. If $h_*(t) = 1 - y_*'(t)$ and $h^* = 1 - y^{*'}(t)$, then these functions are the unique solutions of

$$(3.23) h_*'' + y_*(t)h_*' - \lambda(1 + y_*'(t))h_* = 0,$$

$$(3.24) h_*'' + y^*(t)h^{*\prime} - \lambda(1 + y^{*\prime}(t))h^* = 0,$$

satisfying $h_* > 0$, $h_*' < 0$ and $h^* > 0$, $h^{*'} < 0$ for $t \ge 0$; cf. Lemma 3A. By Lemma 1A, we have $h_*(t)$, $h^*(t) \to 0$ as $t \to \infty$. It follows that $y = y_*(t)$, $y^*(t)$ are solutions of (1.1) - (1.4).

(b) On monotony (i). We now verify the statements concerning the monotony of (2.1) – (2.2). Let the functions h_n , y_n , H_n , Y_n be written as $h_n(t; \alpha, \beta, \gamma)$, $y_n(t; \alpha, \beta, \lambda)$, For

$$(3.25) \qquad \qquad \alpha_{\scriptscriptstyle 1} \leq \alpha_{\scriptscriptstyle 2}, \ -1 < \beta_{\scriptscriptstyle 1} \leq \beta_{\scriptscriptstyle 2} < 1, \ 0 < \lambda_{\scriptscriptstyle 1} \leq \lambda_{\scriptscriptstyle 2} \ ,$$

let $h_{nj}(t) = h_n(t; \alpha_j, \beta_j, \lambda_j)$ for j = 1, 2. Then

$$h_{{\scriptscriptstyle n2}}/(1-eta_{\scriptscriptstyle 2}) \leq h_{{\scriptscriptstyle n1}}/(1-eta_{\scriptscriptstyle 1}) \qquad \qquad ext{for} \ t \geq 0 \; ext{,}$$

$$h'_{n2}/h_{n2} \leq h'_{n1}/h_{n1} ~{
m for}~t \geq 0$$
 ,

$$y_{\scriptscriptstyle n2}' \geqq y_{\scriptscriptstyle n1}' \hspace{0.5cm} ext{and} \hspace{0.5cm} y_{\scriptscriptstyle n2} \geqq y_{\scriptscriptstyle n1} \hspace{1.5cm} ext{for} \hspace{0.5cm} t \geqq 0$$
 ,

hold for n = 0. An induction shows that these inequalities hold for $n = 0, 1, \dots$ (Note that the first of these inequalities gives

$$(1-y_{n2}')/(1-\beta_2) \leq (1-y_{n1}')/(1-\beta_1) \leq (1-y_{n1}')/(1-\beta_2)$$
,

which implies the last two inequalities.) A limit process, as $n \to \infty$, shows that the functions

$$(3.26) y_*, - (1-y_*')/(1-\beta), y^{*''}/(1-y_*')$$

are nondecreasing with respect to α , β , and λ . By considering the equation (3.23) for $h_*(t) = h_*(t; \alpha, \beta, \lambda)$, one obtains the assertions concerning the strict monotony of (3.26) in Theorem 2.1. The monotony statements concerning y^* , $y^{*'}$, $y^{*''}$ are proved similarly.

(c) On part (ii). Let y(t) be a solution of (1.1) - (1.4) and h(t) = 1 - y'(t), so that h > 0, h' < 0. Then $y_0(t) \le y(t) \le Y_0(t)$ and $y_0'(t) \le y'(t) \le Y_0'(t)$. Thus the differential equations (3.2) and (3.6₀), (3.13₀) imply the case n = 1 of

$$h_n \geqq h \geqq H_n \; \; ext{and} \; \; h'_n / h_n \geqq h' / h \geqq H_n' / H_n \; ,$$

(3.27)

$$y_n \leq y \leq Y_n \;\; ext{and} \;\; y'_n \leq y' \leq Y'_n$$
 ,

by Lemma 2A. A simple induction argument shows the validity of these inequalities for $n = 1, 2, \cdots$ and $t \ge 0$. Hence (2.3) follows by letting $n \to \infty$.

4. A preliminary result $(\lambda > 0, \beta = -1)$. Define the functions $\gamma^*(\alpha, \beta, \lambda) \gamma_*(\alpha, \beta, \lambda)$ on the set (2.0) by

$$(4.0) \quad \gamma^*(\alpha, \beta, \lambda) = y^{*\prime\prime}(0; \alpha, \beta, \lambda), \ \gamma_*(\alpha, \beta, \lambda) = y^{\prime\prime\prime}_*(0; \alpha, \beta, \lambda);$$

so that, for example, y^* is the solution of (1.1) satisfying the initial condition $y^* = \alpha$, $y^{*\prime} = \beta$, $y^{*\prime\prime} = \gamma^*$ at t = 0. By Theorem 2.1, the positive function $\gamma^*(\alpha, \beta, \lambda)/(1 - \beta)$ is an increasing function of each of its arguments on the set (2.0). Define $\gamma^*(\alpha, -1, \lambda)$ by

$$(4.1) \quad \gamma^*(\alpha, -1, \lambda) = 2 \lim_{\beta \to 1} \gamma^*(\alpha, \beta, \lambda) / (1 - \beta) = \lim_{\beta \to 1} \gamma^*(\alpha, \beta, \lambda) .$$

Thus $\gamma^*(\alpha, -1, \lambda)$ is a nondecreasing function of α and of λ , and satisfies

$$(4.2) 0 \leq \gamma^*(\alpha, -1, \lambda) < 2 \ \gamma^*(\alpha, \beta, \lambda)/(1-\beta) for -1 < \beta < 1.$$

PROPOSITION 4.1. The problem (1.1) - (1.4) with $\beta = -1$ has a solution if and only if

$$(4.3) \qquad \qquad \gamma^*(\alpha, -1, \lambda) > 0$$

In particular, if it has a solution for $\beta = -1$ and some $\lambda = \lambda_0 > 0$, $\alpha = \alpha_0$, then it has a solution for $\beta = -1$, $\alpha \ge \alpha_0$, $\lambda \ge \lambda_0$.

Proof. Let $\lambda > 0$ be fixed and denote the solution of (1.1) satisfying the initial conditions $y(0) = \alpha$, $y'(0) = \beta$, $y''(0) = \gamma$ by $y = y(t, \alpha, \beta, \gamma)$.

Suppose that (1.1) - (1.4) has a solution y(t), where $\lambda > 0$, $\beta = -1$. Then (1.4) implies that -1 < y'(t) < 1 for t > 0. Thus, by Theorem 2.1,

$$y''(t) \leq \gamma^*(y(t), y'(t), \lambda)$$
 for $t > 0$.

Since y'(0) = -1 < 0 implies that $y(t) < \alpha$ for small t > 0,

$$y''(t) \leq \gamma^*(lpha, y'(t), \lambda)$$
 for small $t > 0$.

Letting $t \rightarrow 0$ gives

170

$$(4.4) \qquad \qquad \gamma^*(\alpha, -1, \lambda) \ge y''(0) > 0 \; .$$

Consequently, (4.3) is a necessary condition for the existence of a solution of (1.1) – (1.4), $\lambda > 0$ and $\beta = -1$.

In order to prove the converse, assume that (4.3) holds. Let $y^*(t) = y^*(t; \alpha, \beta, \lambda)$ be the "maximal" solution of (1.1) – (1.4), $-1 < \beta < 1$, of Theorem 2.1. Thus

$$y^*(t; \, lpha, \, eta, \, \lambda) = y(t, \, lpha, \, eta, \, \gamma^*(lpha, \, eta, \, \lambda))$$
 .

Let

(4.5)
$$y(t) = y(t, \alpha, -1, \gamma^*(\alpha, -1, \lambda)) = \lim_{\beta \to -1} y^*(t; \alpha, \beta, \lambda) .$$

Then y(t) is the solution of (1.1) satisfying the initial conditions

$$y(0) = lpha \;,\;\; y'(0) = -1 \;,\;\; y''(0) = \gamma^*(lpha,\,-1,\,\lambda) > 0 \;.$$

In view of (4.4) and the inequalities for $y^* = y^*(t; \alpha, \beta, \lambda)$,

$$egin{array}{ll} lpha+eta t &\leq y^* \leq lpha+t \;, & -1 < y^* < 1 \ 0 &\leq y^{*\prime\prime}/(1\!-\!y^{*\prime}) \leq y^{*\prime\prime}(t;\,lpha,\,eta_{\scriptscriptstyle 0},\,\lambda)/(1-y^{*\prime\prime}(t;\,lpha,\,eta_{\scriptscriptstyle 0},\,\lambda)) \end{array}$$

for $t \ge 0$, $-1 < \beta \le \beta_{\scriptscriptstyle 0} < 1$, the solution (4.5) exists for $t \ge 0$ and satisfies

$$-1 \leq y'(t) \leq 1$$
 and $y''(t) \geq 0$ for $t \geq 0$.

Note that y''(t) > 0 for $t \ge 0$, for if there is a least $t = t_0 > 0$ where $y''(t_0) = 0$, then $y'''(t_0) < 0$ (unless $y'(t_0) = 1$ and $y''(t_0) = 0$ which, by the uniqueness of solutions of (1.1), would imply that $y = \alpha + t$, y' = 1, $y'' \equiv 0$). But $y''(t_0) = 0$, $y'''(t_0) < 0$ gives y''(t) < 0 for small $t - t_0 > 0$. Hence y''(t) > 0 and -1 < y'(t) < 1 for t > 0. It is easy to show that $y'(t) \to 1$ as $t \to \infty$; e.g., examine the equation (3.2) for h = 1 - y'. Thus y = y(t) is a solution of (1.1) - (1.4). This completes the proof of Proposition 4.1.

5. Proof of Theorem 1.1. $(\lambda > 0, \beta = -1)$. This part of Theorem 1.1 follows from Proposition 4.1 if it is verified that when $\lambda > 0$ and $\beta = -1$, then

(a) there exist α -values for which (1.1) - (1.4) has solutions;

(b) there exist α -values for which (1.1) - (1.4) does not have solutions.

On (a). Let y(t) be the solution of (1.1) - (1.4) for a given $\lambda > 0$, $\beta = 0$, $\alpha = 0$. It will be shown that there exists a (largest) $t_1 < 0$ such that y(t) exists on $t_1 \leq t < \infty$, $y'(t_1) = -1$, and y''(t) > 0 for $t_1 \leq t < \infty$. In this case, $y(t + t_1)$ is a solution of (1.1) - (1.4)

with $\alpha = y(t_1)$, $\beta = -1$, and assertion (a) is proved.

Since $y'''(0) = -\lambda < 0$, it follows that y''(t) > y''(0) > 0, y' < 0for small -t > 0. Also, y(t) > y(0) = 0 as t decreases from 0, as long as y'(t) < 0. Thus $y''' = -yy'' - \lambda(1 - y'^2) < 0$ as long as $-1 \le y' < 0$. Hence t_1 exists unless there is a $t_0 < 0$ such that $y'''(t) \to -\infty$ as $t \to t_0 + 0$, while y'(t) > -1 for $t_0 < t \le 0$. Since this is impossible, the desired t_1 exists.

The proof of (b) will be obtained in several steps (c) - (g).

(c) It will be shown that for a fixed $\lambda > 0$, there exists a large $-\alpha > 0$ such that $y(t, \alpha, -1, \gamma)$ is not a solution $(1.1) - (1.4), \lambda > 0$ and $\beta = -1$, for any choice of $\gamma > 0$. If $y(t, \alpha, -1, \gamma)$ is a solution, then $0 < y''(0) = \gamma \leq \gamma^*(\alpha, -1, \lambda) \leq \gamma^*(0, -1, \lambda)$; cf. (4.4). Hence, it suffices to show that $y(t, \alpha, -1, \gamma)$ is not a solution of (1.1) - (1.4) for γ on the fixed (possibly empty) bounded range $0 < \gamma \leq \gamma^*(0, -1, \lambda)$.

(d) It will be verified, by an induction, that n differentiations of (1.1) give a differential equation of the form

(5.1)
$$y^{(n+3)} + yy^{(n+2)} + (n-2\lambda)y'y^{(n+1)} = P_n(y'', \dots, y^{(n)}),$$

where P_n is an expression of the type

(5.2)
$$P_n = \sum_{j=2}^n a_{nj}(\lambda) y^{(j)} y^{(n+2-j)} ,$$

(5.3)
$$a_{nj}(\lambda) \ge 0$$
 for $2\lambda \ge n-1$

This statement is correct if n = 1, with $P_1 = 0$, for a differentiation of (1.1) gives

$$y^{_{(4)}}+yy^{\prime\prime\prime}+(1-2\lambda)y^{\prime}y^{\prime\prime}=0$$
 .

Assume (5.1) - (5.3) and differentiate (5.1) to get

$$y^{_{(n+4)}}+yy^{_{(n+3)}}+(n+1-2\lambda)y'y^{_{(n+2)}}=P_{_{n+1}}$$
 ,

where $P_{n+1} = P_{n'} + (2\lambda - n)y''y^{(n+1)}$. Hence the analogue of (5.1) - (5.3) holds for n + 1.

(e) The solution $y(t) = y(t, \alpha, -1, \gamma)$ satisfies the initial conditions

(5.4)
$$y(0) = \alpha, y'(0) = -1, y''(0) = \gamma$$
.

It will be shown, by an induction, that $y^{(k+2)}(0)$ is a polynomial in α , γ of the form

(5.5_k)
$$y^{(k+2)}(0) = \gamma \left[(-\alpha)^k + \sum_{i=0}^{k-1} \sum_{j=0}^{k-1} b_{kij}(\lambda) \alpha^j \gamma^i \right]$$

for $k = 0, 1, \dots$. This is the case for k = 0 and $k = 1, y''(0) = \gamma$ and $y'''(0) = -\gamma \alpha$. Assume (5.5_k) for $0 \le k \le n, n \ge 1$. Then, by

$$y^{(n+3)}(0) = - lpha y^{(n+2)}(0) + (n-2\lambda)y^{(n+1)}(0) + P_n(y^{\prime\prime}(0), \cdots, y^{(n)}(0))$$

Hence (5.5_{n+1}) follows from (5.5_k) , $0 \le k \le n$, and (5.2), (5.3). Note that (5.5_k) implies, for k > 0, that

(5.6)
$$y^{(k+2)}(0) - \tau \alpha y^{(k+1)}(0) = \gamma [(1 + \tau)(-\alpha)^k + \Sigma \Sigma \cdots],$$

for any constant τ , where $\Sigma\Sigma \cdots$ is a sum of terms of the form $C_{kij}(\lambda, \tau)\alpha^{j}\gamma^{i}$ for $0 \leq i, j \leq k-1$.

(f) Let $\lambda > 0$ and let n > 0 be the integer satisfying

$$(5.7) n-1 < 2\lambda \leq n .$$

Let τ denote the number

(5.8)
$$au = 2\lambda - n$$
, so that $0 < 1 + \tau \leq 1$, $\tau \leq 0$.

It follows from (5.5_k) and (5.6) that there exists a number $-\alpha > 0$, so large that if $0 < \gamma \leq \gamma^*(0, -1, \lambda)$, then

(5.9)
$$y^{_{(k)}(0)} > 0$$
 for $k = 2, \dots, n+2$,

$$(5.10) y^{(n+2)}(0) - \tau \alpha y^{(n+1)}(0) > 0.$$

(g) It will now be shown that, for such a choice of α , the problem (1.1) - (1.4) with $\beta = -1$ has no solution. To this end, write (5.1) as a second order equation for $v = y^{(n+1)}$,

(5.11)
$$v'' + yv' + (n - 2\lambda)y'v = P_n(y'', \dots, y^{(n)})$$
.

In this equation, make the variation of constants

(5.12)
$$v = w \exp \tau \int_0^t y(r) dr ,$$

transforming (5.11) into

$$w^{\prime\prime}+(2 au+1)yw^{\prime}=\left[(au+n-2\lambda)y^{\prime}- au(au+1)y^{2}
ight]w+P_{n}\exp\left(- au\int_{0}^{t}y(r)dr
ight).$$

Using the definition (5.8) of τ gives

(5.13)
$$w'' + (2\tau+1)yw' = -\tau(\tau+1)y^2w + P_n \exp\left(-\tau \int_0^t ydr\right).$$

Since $\tau \leq 0$ and $1 + \tau > 0$, the right side of (5.13) is nonnegative if w and $y'', \dots, y^{(n)}$ are nonnegative, cf. (5.2), (5.3). Also

(5.14)
$$w = v \exp\left(-\tau \int_0^t y dr\right), \quad w' = (v' - \tau y v) \exp\left(-\tau \int_0^t y dr\right),$$

where $v = y^{(n+1)}$. In particular, w satisfies the initial conditions

$$w(0) = v(0) = y^{(n+1)}(0) > 0 \; ,$$

 $w'(0) = v'(0) - au lpha v(0) = y^{(n+2)}(0) - au lpha y^{(n+1)}(0) > 0$

Up to a positive factor, the left side of (5.13) is

$$\left(w'\exp(2\tau+1)\int_{0}^{t}ydr\right)'$$
.

If w' is positive on an interval [0, t], then the function w, hence $y^{(n+1)}$, and $y'', \dots, y^{(n)}$ are positive there also, by virtue of (5.9). Consequently, $y'', \dots, y^{(n+1)}$ and w, w' are positive on their right maximal interval of existence.

If n > 1, this implies that y''' > 0, hence $y''(t) \ge \gamma > 0$. If y(t) exists for $t \ge 0$, then $y'(t) \to \infty$ as $t \to \infty$ and y(t) is not a solution of (1.1) - (1.4).

Consider the case n = 1. Suppose, if possible, that y(t) is a solution of (1.1) - (1.4). Then

$$y''' - au y y'' = -(1+ au)yy'' - \lambda(1-y'^2) < 0$$
 for large t.

This contradicts w' > 0; cf. (5.14), where v = y''. This completes the proof of (c), hence (b), and of Theorem 1.1.

6. Uniqueness statements. We shall give a new simple proof of uniqueness in the cases $\lambda \ge 0$, $0 \le \beta < 1$ and show that this proof can be modified to obtain uniqueness when $\lambda = 1/2$, $-1 \le \beta < 1$.

THEOREM 6.1 The problem (1.1) – (1.4) has at most one solution for $\lambda \ge 0$, $0 \le \beta < 1$ and for $\lambda = 1/2$, $-1 \le \beta < 1$.

Proof. $(\lambda \ge 0, \ 0 \le \beta < 1)$. Along a solution y = y(t) of (1.1) for which y''(t) > 0, it is possible to introduce the new independent variable

$$(6.1) x = y'(t) ,$$

so that

$$z = y''(t) = dx/dt$$

and

(6.3)
$$dy/dx = y'/y''$$
 and $dz/dx = y'''/y''$.

Thus (1.1) is equivalent to the (nonautonomous) first order system

(6.4)
$$dy/dx = x/z$$
, $dz/dx = -y - \lambda(1-x^2)/z$,

in considering solutions for which y'' > 0. The partial set of initial conditions (1.3) becomes

(6.5)
$$y = \alpha \text{ at } x = \beta$$
.

If y(t) is a solution of (1.1) - (1.4), $\lambda \ge 0$, then $y''' \le 0$ for large t, so that $y'' \ge 0$ is nonincreasing and (1.2) implies, therefore, that $y'' \to 0$ as $t \to \infty$. (Actually, the asymptotic behavior of y'' at $t = \infty$ is known; cf. [4, p. 536]). Thus a solution y of (1.1) - (1.4) determines a solution (y, z) of the system (6.4) for $\beta \le x < 1$ satisfying (6.5) and

$$(6.6) \qquad (0 <) z \longrightarrow 0 \text{ as } x \longrightarrow 1.$$

It will be shown that (6.4) has at most one solution satisfying (6.5) and (6.6) if $\beta \ge 0$. In fact, if $0 \le \beta \le x < 1$, then the right sides of the equations in (6.4) are nonincreasing functions of z and y, respectively. Thus, a theorem of Kamke [9] implies that if (y_1, z_1) , (y_2, z_2) are two solutions of (6.4) for $(0 \le) \beta \le x < 1$ such that $y_1 = y_2 = \alpha$ and $0 < z_1 < z_2$ at $x = \beta$, then $y_1 > y_2$ and $z_1 < z_2$ for $\beta < x < 1$. Thus the last equation of (6.4) shows that $d(z_2-z_1)/dx > 0$ for $\beta \le x < 1$. In particular, the limit of $z_2 - z_1$, as $x \to 1$, is positive $(\le \infty)$. Hence $z = z_1, z_2$ cannot satisfy (6.6), and Theorem 6.1 is proved for the cases indicated.

Proof. $(\lambda = 1/2, -1 \le \beta < 1)$. The system (6.4) can be reduced to a nonlinear, second order equation by differentiating the second equation of (6.4) with respect to x and using the first equation to obtain

(6.7)
$$d^{2}z/dx^{2} = (2\lambda - 1)x/z + [\lambda(1 - x^{2})/z^{2}]dz/dx,$$

If $2\lambda - 1 = 0$, this reduces to

(6.8)
$$d^{2}z/dx^{2} = \left[\frac{1}{2}(1-x^{2})/z^{2}\right]dz/dx$$

This linear, homogeneous equation for dz/dx shows that either $dz/dx \equiv 0$ or $dz/dx \neq 0$ for $\beta \leq x < 1$. In the case of a solution satisfying (6.6), it follows that

$$dz/dx < 0 \qquad \qquad \text{for } \beta \leq x < 1.$$

Rewrite (6.8) as a binary, first order system

(6.10)
$$dz/dx = u, \ du/dx = \frac{1}{2} (1-x^2)u/z^2$$
.

Suppose that (1.1) - (1.4) has two solutions $y_1(t)$, $y_2(t)$, so that $y_1 = y_2 = \alpha$, $y_1' = y_2' = \beta$ and $y_2'' > y_1''$ at t = 0. By the last part of (6.4), the corresponding solutions (u_1, z_1) , (u_2, z_2) of (5.4) satisfy

$$(6.11) 0 > u_2 \ge u_1, z_2 > z_1 > 0$$

at $x = \beta$, $-1 \leq \beta < 1$.

For $-1 \leq \beta \leq x < 1$, u < 0 and z > 0, the right sides of the equations in (6.10) are increasing functions of u, z, respectively. Thus, a theorem of Kamke [9] shows that solutions (u_1, z_1) , (u_2, z_2) of (6.10) satisfy (6.11) for $\beta \leq x < 1$, provided that they satisfy u < 0 and z > 0 for $(-1 \leq) \beta < x < 1$ and (6.11) for $t = \beta$.

This leads to the same contradiction obtained in the last proof, and completes the proof of Theorem 6.1.

REMARK. A differentiation of (1.1) with respect to t gives

(6.12)
$$y^{(4)} + yy''' + (1-2\lambda)y'y'' = 0$$

so that if $1-2\lambda = 0$,

$$(6.13) y^{(4)} + yy''' = 0.$$

One can give a similar proof of uniqueness $(\lambda = 1/2, -1 \leq \beta < 1)$ by writing (6.13) as a first order system for the vector (y, y', y'', y'''/y''), with t as independent variable.

7. Remarks on continuity. Although we cannot settle the general question of uniqueness for $\lambda > 0$, $-1 \leq \beta < 0$, the following may be of interest.

PROPOSITION 7.1. Let $\lambda > 0$, $-1 < \beta < 1$ be fixed and $Z = Z(\beta, \lambda)$ the set of pairs $(\alpha, \gamma) \in \mathbb{R}^2$ such that the solution of the initial value problem $y = y(t, \alpha, \beta, \gamma)$ of (1.1) and $y = \alpha, y' = \beta, y'' = \gamma$ at t = 0is a solution (1.1) - (1.4). Then Z is homeomorphic to a line.

Of course, the solution of (1.1) - (1.4) is unique if (α, γ_1) , $(\alpha, \gamma_2) \in \mathbb{Z} \Longrightarrow \gamma_1 = \gamma_2$. In terms of the functions γ_*, γ^* in (4.0), the solution of (1.1) - (1.4) is unique if and only if $\gamma_*(\alpha, \beta, \lambda) = \gamma^*(\alpha, \beta, \lambda)$.

PROPOSITION 7.2. Let $\lambda > 0$ be fixed. The problem (1.1) – (1.4) has a unique solution for (α, β) on the set

$$(7.1) \qquad \qquad -\infty < \alpha < \infty \ , \quad (-1 <) \ \beta_{\scriptscriptstyle 0} \leq \beta < 1$$

if and only if the functions $\gamma_*(\alpha, \beta, \lambda)$, $\gamma^*(\alpha, \beta, \lambda)$ are continuous on (7.1).

It is clear that uniqueness $(\gamma_* = \gamma^*)$ implies continuity; cf. the last half of the proof of Proposition 4.1.

Proof of Proposition 7.1. In this proof, we shall only use the uniqueness of the solution of (1.1) - (1.4) for $\lambda > 0$, $\beta = 0$; i.e., the fact that $\gamma_*(\alpha, 0, \lambda) = \gamma^*(\alpha, 0, \lambda)$ is continuous.

For fixed α and $\beta = 0$, the problem (1.1) - (1.4) has a unique solution. Let $y = y(x, \alpha)$, $z = z(x, \alpha)$ be the corresponding solution of the system (6.4), so that $y(0, \alpha) = \alpha$ and $z(0, \alpha) = \gamma_*(\alpha, 0, \lambda) = \gamma^*(\alpha, 0, \lambda)$ and $y(x, \alpha)$, $z(x, \alpha)$ are defined for $0 \leq x < 1$. Since, by (2.3),

$$0 < \gamma_*(y(x, \alpha), x, \lambda) \leq z(x, \alpha) \leq \gamma^*(y(x, \alpha), x, \lambda)$$

it is clear that the solution $(y(x, \alpha), z(x, \alpha))$ of (6.3) exists for -1 < x < 1. The continuity of $\gamma^*(\alpha, 0, \lambda)$ implies that $y(x, \alpha), z(x, \alpha)$ are continuous for -1 < x < 1, $-\infty < \alpha < \infty$. For fixed β_0 , $-1 < \beta_0 < 1$, define the continuous mapping T,

$$T \ lpha = (eta_{\scriptscriptstyle 0}, \ y(eta_{\scriptscriptstyle 0}, lpha), z(eta_{\scriptscriptstyle 0}, lpha))$$
 ,

of the α -line onto a set Z in the plane $x = \beta_0$ of the (x, y, z)-space. Thus $Z = Z(\beta_0, \lambda)$ consists of the set of points (β_0, y_0, z_0) such that the solution of the initial value problem (1.1) and $y(0) = y_0, y'(0) = \beta_0, y''(0) = z_0$ is a solution of (1.1) – (1.4).

The map T has an inverse obtained as follows: Let $(\beta_0, y_0, z_0) \in Z$ and $y = y(x, y_0, z_0)$, $z = z(x, y_0, z_0)$ the solution of (6.4) satisfying the initial condition $y = y_0$, $z = z_0$ at $x = \beta_0$. Then

$$T^{-_1}(eta_{\scriptscriptstyle 0},\,y_{\scriptscriptstyle 0},\,z_{\scriptscriptstyle 0})=\,y(0,\,y_{\scriptscriptstyle 0},\,z_{\scriptscriptstyle 0})=lpha$$
 .

Clearly, T^{-1} is continuous and onto the α -line. Thus Z is homeomorphic to a line.

Proof of Proposition 7.2. We have to show that the continuity of γ_*, γ^* on (7.1) implies the uniqueness of the solution of (1.1)-(1.4) for $\beta = \beta_0$.

(a) Assume the continuity of $\gamma_*(\alpha, \beta, \lambda)$, $\gamma^*(\alpha, \beta, \lambda)$ on (7.1). We shall show that

$$(7.2) \quad Z = \{(x, y, z) : x = \beta_0, \gamma_*(y, \beta_0, \lambda) \leq z \leq \gamma^*(y, \beta_0, \lambda), y \text{ arbitrary} \}.$$

In other words, if $y(t) = y(t, \alpha, \beta_0, \gamma)$ is the solution of the initial value problem (1.1) and $y = \alpha$, $y' = \beta_0$, $y'' = \gamma$ at t = 0, then a necessary and sufficient condition that y(t) be a solution of (1.1) - (1.4) is that

(7.3)
$$\gamma_*(\alpha, \beta, \lambda) \leq \gamma \leq \gamma^*(\alpha, \beta, \lambda) .$$

The necessity of (7.3) is contained in Theorem 2.1. In order to prove the converse, assume (7.3). It will be shown that y(t) exists for $t \ge 0$ and satisfies (1.1)-(1.4). This is clear if there is a $t \ge 0$ where either

$$y^{\prime\prime}(t)=\gamma_*(y(t),\,y^\prime(t),\,\lambda) \ \ ext{or} \ \ y^{\prime\prime}(t)=\gamma^*(y(t),\,y^\prime(t),\,\lambda)$$
 .

If this is not the case, then (7.3) and the continuity of γ_*, γ^* imply that

$$0 < \gamma_*(y(t), y'(t), \lambda) < y''(t) < \gamma^*(y(t), y'(t), \lambda)$$

on any right interval of existence of y. But then y(t) exists for $t \ge 0$. Also, there exists a t-value t_0 such that $y'(t_0) \ge 0$, so that

$${}^{\gamma}{}_{*}(y(t_{\scriptscriptstyle 0}), \; y'(t_{\scriptscriptstyle 0}), \lambda) = {}^{\gamma}{}^{*}(y(t_{\scriptscriptstyle 0}), \; y'(t_{\scriptscriptstyle 0}), \lambda)$$
 .

This contradiction proves the sufficiency of (7.3).

(b) Uniqueness. Assume the continuity of γ_* , γ^* on (7.1). We shall show that this implies the uniqueness of the solution of (1.1) - (1.4) when $\beta = \beta_0$. If this is not the case, that is, if $\gamma_*(\alpha, \beta_0, \lambda) \not\equiv \gamma^*(\alpha, \beta_0, \lambda)$, then, by (7.2), Z contains a 2-dimensional open set. But this contradicts the fact that Z is homeomorphic to a line, and completes the proof of Proposition 7.2.

Appendix. This appendix will deal with lemmas on second order, linear differential equations used in the proofs of Theorem 1.1 and 2.1. They are simple variants of known results. They are given here for easy reference and the proofs will only be sketched or omitted.

LEMMA 1A. Let $q(t) \ge 0$, p(t) be continuous, real-valued for $0 \le t < \infty$. Then

(1)
$$h'' + p(t)h' - q(t)h = 0$$

has a solution satisfying

(2)
$$h(0) = 1, h \ge 0 \text{ and } h' \le 0 \text{ for } t \ge 0$$
,

while

(3)
$$h'(t_0) = 0$$
 implies that $q(t) \equiv 0$ for $t \ge t_0$,

so that, unless $q(t) \equiv 0$ for large t,

$$h'(t) < 0 \qquad \qquad for \ t \ge 0.$$

This solution is unique if and only if either

(5)
$$\int_0^\infty \exp\left(-\int_0^t p(s)ds\right)dt = \infty \quad or \quad \int_0^\infty q(t) \; \exp\left(\int_0^t p(s)ds\right)dt = \infty \; .$$

Finally, all solutions of (1), (2) satisfy

(6) $h(t) \longrightarrow 0 \quad as \quad t \longrightarrow \infty$

if and only if

(7)
$$\int_{0}^{\infty} q(t) \left[\exp \int_{0}^{t} p(r) dr \right] \left\{ \int_{0}^{t} \exp \left(- \int_{0}^{s} p(r) dr \right) ds \right\} dt = \infty ;$$

in which case, h(t) is unique.

REMARK. Note that if

 $q(t) \ge \text{const.} > 0 \text{ and } p(t) \ge 0$

for large t, then (5) and (7) hold, so that h(t) is unique and satisfies (6).

The first part of this lemma concerning existence is due to A. Kneser; the part on uniqueness to Hartman and Wintner; and the part on (6) - (7) to Weyl; cf., e.g., [4, Chapter XI, § 6].

LEMMA 2A. Let P(t), Q(t) be real-valued, continuous functions for $t \geq 0$ such that

(8)
$$H'' + P(t)H' - Q(t)H = 0$$

has a solution satisfying

(9)
$$H(0) = 1, H > 0 \text{ and } H' \leq 0$$
 for $t \geq 0$.

Let p(t), q(t) be continuous for $t \ge 0$ and

(10)
$$p(t) \ge P(t), \quad q(t) \ge Q(t).$$

Then (1) has solution satisfying (2) and

(11)
$$0 < h \leq H$$
 and $h'/h \leq H'/H \leq 0$ for $t \geq 0$.

This result can be obtained by introducing the new variable v =h/H(t) in (1). By virtue of (9) and (10), Lemma 1A is applicable to the resulting differential equation for v,

(12)
$$v'' + (p + 2H'/H)v' - [(q-Q) - (p-P)H'/H]v = 0$$
.

Hence there is a solution v(t) satisfying

$$v(0) = 1, v > 0$$
 and $v' \leq 0$ for $t \geq 0$

This implies (11). Note that v'(t) < 0 for $t \ge 0$ unless the coefficient of v in (12) vanishes for large t. In case v'(t) < 0 for $t \ge 0$, (11) becomes

(13)
$$0 < h < H$$
 and $h'/h < H'/H$ for $t > 0$.

LEMMA 3A. Let $q_n(t) \ge 0$, $p_n(t)$ be continuous, real-valued for $t \geq 0$, $n = 1, 2, \cdots$ and $n = \infty$ such that

179

(14)
$$p_n \longrightarrow p_\infty \text{ and } q_n \longrightarrow q_\infty \text{ as } n \longrightarrow \infty$$

uniformly on bounded t-intervals. For $n = 1, 2, \dots$, let $h = h_n(t)$ be the principal solution of

(15_n)
$$h'' + p_n h' - q_n h = 0$$

satisfying h(0) = 1, hence (2). Then there exists a sequence of positive integers $n(1) < n(2) < \cdots$ such that

$$h_{\infty}(t) = \lim_{k \to \infty} h_{n(k)}(t), \ h_{\infty}'(t) = \lim_{k \to \infty} h_{n(k)}'(t)$$

exist uniformly on bounded t-intervals and $h = h_{\infty}(t)$ is a solution of (15_{∞}) satisfying (2). In particular, a selection of a subsequence is unnecessary if (2) determines a unique solution of (15_{∞}) .

This is a result of Hartman and Wintner; cf. [4, p. 360].

References

1. W. A. Coppel, On a differential equation of boundary-layer theory, Phil. Trans. Royal Soc. London 253 (1960), 101-136.

2. D. Grohne and R. Iglisch, *Die laminare Grenzschicht an der längs angeströmten* ebenen Platte mit schrägen Absaugen und Ausblasen, Veröffentlichung Math. Inst. Hochschule, Braunschweing, 1945.

3. P. Hartman, On the asymptotic behavior of solutions of a differential equation in boundary layer theory, Zeit. angew. Math. Mech. 44 (1964), 123-128.

4. ____, Ordinary Differential Equations, John Wiley and Sons, Inc., New York, 1964.

5. R. Iglisch, Ueber die Mehrdeutigkeit der Lösungen beim beim ebenen Staupunkts-Problem mit homogenem Absaugen und Ausblasen, Veröffentlichung Math. Inst. Hochschule, Braunschweig, 1945.

6. _____, Elementarer Existenzbeweis für die Strömung in der laminaren Grenzschicht zur Potentialströmung $U = u_1 x^m$ mit m > 0 bei Absaugen und Ausblasen, Zeit. angew. Math. Mech. **33** (1953) 143-147.

7. _____, Elementarer Beweis für die Eindeugkeit der Strömung in der laminaren Grenzschict zur Potentialströmung $U = u_1 x^m$ with $m \ge 0$ bei Absaugen und Ausblasen, Zeit. angew. Math. Mech. **34** (1954), 441-443.

8. R. Iglisch and F. Kemnitz, Ueber die Grenzschichttheorie auftretende Differentialgleichung $f''' + ff'' + \beta(1-f'^2) = 0$ für $\beta < 0$ bei gewissen Absaugen und Ausblatzgesetzen, 50 Jahre Grenzschichtforschung, Braunschweig, 1955.

9. E. Kamke, Zur Theorie der Systems gewöhnlicher Differentialgleichungen II, Acta Math. 58 (1932), 57-85.

10. H. Weyl, On the differential equations of the simplest boundary-layer problems, Ann. of Math. **43** (1942), 381-407.

Received March 9, 1970. Research partially sponsored by the Air Force Office of Scientific Research, Office of Aerospace Research; United States Air Force, under AFOSR Contract No. F44620-67-C-0098. This paper also represents results obtained at the Courant Institute of Mathematical Sciences of New York University, under the sponsorship of the Sloan Foundation.

THE JOHNS HOPKINS UNIVERSITY